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1. If the expression (2)%)* is equivalent to 16y%, what is
the value of a?
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> Express in simplest form: A5a'5 ‘.'.':4'&'-3 *b
15475
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4. The product of 3x° and 2x*is
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5. Which expression 1s not equal to 1?
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6. Which expression is equivalent to (52a3b#)1?
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7. - - - - x—l 4
Which e s101 1S valent to ?
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8. Find the quotient of the following expression:
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9. x% %
Simplify the expression = — and leave the
2%
answer 1 terms of positive exponents, only.
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10. Simplify the expression (3 Xy )'2 ( 2x~¢y? ) )
that it uses positive exponents, only.
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